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2 1 X ES 4.7 -3.5 36. 2 33.7 =-29.7 192

2 K i 8.1 -2.6 42. 6 37.0 -20.5 792

3 PN i 1.2 -3.1 39.7 34.4 -17.5 811

4 £ & 10.2 -2.3 41.1 36.2 -24.9 542

5 T | <HY 1.7 -2.5 41.4 35.9 -30.9 240

6 H [<3HY 9.4 -2.9 41.6 34.4 -28.6 2178

i A [55] 6.2 3.2 39. 1 34.8 =24.7 485

8 X i 1.4 0.6 37.5 32.0 -16.6 739

9 7K ES 4.3 -0.9 38. 1 35.9 -34.5 67

10 PN E5 2.9 -0.5 40.0 35.4 -28.0 355

1 4 i 3.9 -1.3 45.9 39.4 -35.0 211

12 T S 2.3 -1.2 42.3 39.3 -37.8 12

13 H ES 5.1 -0.7 27.3 24.4 -15.4 432

14 A [ <%V 6.4 3.7 40.0 34.3 -24.3 480

15 X[ <BHY 6.5 0.1 40. 6 36.0 -29.2 326

16 7K & 10.2 -2.9 35.7 29.8 -9.4 979

17 X | <HY | 1227 -1.8 38.0 31.5 -24.8 322

18 £ | <Y 8.3 5.7 36.6 32.6 -28.2 211

19 T i 1.5 0.4 40.7 33.2 -14.7 888

20 H & 11.3 -3.3 41.4 34.3 -16. 2 869

21 A i 9.2 -2.0 41.4 35. 1 -15.1 960

22 X & 10.9 =&, & 41.9 33.5 -15.5 864

23 7K i 13.2  -0.2 35.4 29.9 -9.9 960

24 VN & 17.3 0.0 33.7 28.17 -9.6 917

25 & 58] 12.8 6.1 35.2 29.8 -23.7 293

26 el & 5.8 0.4 39.8 33.1 -14.7 883

27 H [<BHY | 125 -2.5 41.9 35.4 -20.0 739

28 A S 1.7 0.7 45.5 43.9 -43.9 0

R8st 1100.6  953.9 14, 909
BE 16,150 (1A17B~2AH138%)
5tE : 11,4712M (18178~2R138%)



